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Orden de Operaciones (C)

Realice las operaciones en el orden correcto.

15,2 % (47,74 —22,49) 6. 3,02 x 28 — 16,74

. 80,74 — (31,92 —27,54) 7. 90,72 — (4,25 +20,53)
. 97,86 — (44,39 + 44, 48) 8. 98,56 —32,56— 1,15

. 89,14+ 64,39+ 81,65 9. 52,93 x (84,6 +69,4)

4,6 x (86,88 — 17,48) 10. 58,71 +94,97 — 18,65
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Orden de Operaciones (C) Answers

Realice las operaciones en el orden correcto.

5,2 % (47,74 —22,49) 6. 3,02 x28—16,74
=.131,3 = 67,82

. 80,74 — (31,92 —27,54) 7. 90,72 — (4,254 20,53)
= 76,36 = 65,94

. 97,86 — (44,39 +44,48) 8. 98,56 —32.56 — 1,15
= 8,99 = 64,85

. 89,14+ 64,39+ 81,65 9. 52,93 x (84,6 +69,4)
=.235,18 =8.151,22

. 4,6 x (86,88 —17,48) 10. 58,71 +94,97 — 18,65
=.319,24 =.135,03
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